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Investigating 2-digit subtraction I



KEY

A. Solve the following problems.

1. Jacob has 34 cents and his sister Sophia has 22 cents.  


How many MORE cents does Jacob have than Sophia?  12
2. The mother of Jacob and Sophia gives them each 25 cents.  


How many cents does Jacob have now?    59  


How many cents does Sophia have now?    47
     How many MORE cents does Jacob have than Sophia?   12 

3. Jacob and Sophia each buy a banana for 20 cents.  


How many cents does Jacob have now?   39

How many cents does Sophia have now?   27
     How many MORE cents does Jacob have than Sophia?   12 

4.
What do you notice about the answers to the question “How many MORE cents does Jacob have than 
Sophia?” in the 3 problems above?  The answer in each one is 12

B. Find the following differences:

1. 38 – 31 = 7
2. 48 – 41 = 7
3. 47 – 40 = 7
4. 46 – 39 =  7

What do you notice about the differences above?  The answer in each one is 7
C.
 Answer these questions.
1. Last month, there were 38 girls and 30 boys in the orchestra at Smith School.   How many more girls than boys were in the orchestra at Smith School last month?  



There were 8 more girls than boys
2. During this month, five girls and 5 boys have joined the Smith School orchestra.  


How many girls are now in the orchestra? 43 girls  


How many boys are now in the orchestra?  35 boys

How many MORE girls than boys are now in the orchestra?   8 more girls than boys
D.
 Answer these questions.

1.
Find the difference:  56 – 40    16
2.
Find the difference:  55 – 39.  16
        E.g. this problem is equivalent to the last one OR the same pattern as B3 and B4

E.  Challenge question: Write a difference that is the same as 64 – 38 but is easier to find.     e.g. 66 - 40
